X=-138053. 350 X=-137853. 350
Y= -29461.100 Y= -29461.100

\,\\ 0/9 \

— 7%
127 Ne \ A
T Sa g0 k- %
o = o
t=] @ “:o
O O150 9.05 8.33
0.~ @150 6.18 5.27

X=-138053. 350 X=-138053. 350
Y= -29761.100 Y= -29461.100

Om

20m

1/500

40m

60m

80m

y

& F-27

E-26

F-26

G-26

E-27

G-27

E-28

F-28

G-28

N, B
R B & B
— BEEE
—_— BmEE
e THHEER
. B A
_ PN T Ghe3c
—_— e
_—— = BREEE
AR
—be— i
A A
@ 1SAH ©) MO (D)
) 28 A% ® MO (E)
® 3SAF, ® MO (F
@ ASAA ® MO (@)
55 AT, o) IMOeE (2)
] | esan | ® | qum,
@ | osan
O HEAZL ® py
D RlEA, & AT
@ | verm | @ | &mim
H1SAH | Few it
B2SAA = 0
HISAA Y T8
[4] BASAA (7] RIS
BTSAR I BHTts
® MOE (A) & Z ot
MO (B) D 68
© Mo (C)
R
-8 iy ® | Traa
F 9
@ Ad200 @ b# 250
@ B# 300 [ ] z
@ C#350 O ESaE
® Dé400 ® BB AU
* Ed 450 | FrwJik
L F & 500 @ 08
o ad 150 ® R T
AR OB #

MBS HhEEs

168

® 51 24.

T X B #

EME  ENH
™

g

® DE XREEt
./

Op 0

‘
VU ©200 11.62%0 19. 45m ®

23. 559

TREES

23. 785

LREES

EWE EHE BE D0 X0k
L ™
VU ©200 11.62%0 19. 45m

23 559

TREES

23 785

LREES

Op

®

m g E B

EHE WUE IRUELER EI0ERE

*
F 9 BIER

—@ ( O150 0.68 10.50




